= |

2 | (a)

3 |

5

2 5

UO-..I...l.l. gy
5000 5200 5400 5600

m(K"e*e”) [MeV/c?]

;;\40:_1111_:

% : LHCDb :

= 30}

2 (@)

% 20k

8 &

s I

= 10

=

O

-

5000 5200 5400

m(K*ete") [MeV/c?]

5600

~1500
&
>
ﬁ s
1000}
I _
2 500
:'9 =
= -
g &
U O-. 1 | 1 L 1 | 1 " 1

5000 5200 5400 5600

m(Kete”) [MeV/c?]

S 20k LHCb -
S i :
< 15 (e) -
g 10 + 4l -
g 1 :
; ; g
= :
- 0

5000 5200 5400 5600

m(K*ete) [MeV/c?]

RS LHCb
=
=2000 -
) (c)
£1000 -
:'9 -
FO =
=
U O-. 2 | 1 1 1 | 1 N 1

5000 5200 5400 5600

m(K'e*e”) [MeV/c?]

5 F E
2 1sf LHCb -
Q - 3
> i
- L
g 10
§ E
s
=
@)

S

5000

5200
m(K*ete’) [MeV/c?]

5400

5600



